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—HO0HQIe & A A Ol
90,000& * 164 1,440
—H AU HA 04
90,000& * 164 1,440
—HMHAMHEBSEUHE A Ol
90,000& * 164 1,440
—ZOHASHYR HAS A Ol
90,000& = 209H 1,800
307 glz2+ol & 54,400 64,000 A 9,600
11T MISXASEX 54,400 64,000 A 9,600
OFMeI2 & JE&A 12,750,000& * 14 12,750
Og=x=Al ZOiQ SotSH=U
14,450,000& * 14 14,450

_13_




A el Zoel
HH: oo =SXNsA(MEXN/FHLHSTE)
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OAZZEHR ZIIDIE AAMIMLAY
2,550,000& * 14 2,550
OXNMZEHAXSHAHHS  6,800,000& » 14 6,800
OZFAl el A&2st ALY 17,850
— A2AFOHO BB A
3,400,000& = 14 3,400
—EXgolee At 3,400,000 * 14l 3,400
— NGO WIAe =EHUS
4,250,000 * 14 4,250
— =0tel dAgk2Zst AbY 3,400,000 = 14 3,400
— AL SXCHE L A2 AH0ILE
3,400,000& = 14 3,400
ZOHRDIsSBIIUa XA 1,440 2,880 A 1,440
301 LA F 1,440 2,880 A1,440
09 SALEHIX RS 1,440 2,880 A 1,440
OFMIIsZIItHE &I Kbl X &
90,000& * 16Y 1,440
AMEIEXTAL XA 67,200 67,200 0
301 LA F 67,200 67,200 0
01 MEIBEE 5= 67,200 67,200 0
OZMA=SXNAIE & SH AASXSAXL =&
140,000& = 4098  12E 67,200
()EMHZS 2N S 4,875,821 4,488,401 387,420
= 3,413,075
< 438,824
Al 1,023,922
301 LEEXS 4,875,821 4,488,401 387,420
= 3,413,075
< 438,824
Al 1,023,922
01 MEIBEE 2053 4,875,821 4,488,401 387,420
Oz XA 4,875,821,000& = 14 4,875,821
= 3,413,075
< 438,824
Al 1,023,922
(2)FH== (=) XS 431,760 403,852 27,908
= 302,232
< 38,858
Al 90,670
301 LerBAF 431,760 403,852 27,908
= 302,232
= 38,858
Al 90,670
01 Ml28E 6= 431,760 403,852 27,908
OZM== (=) XN 431,760,000& * 14 431,760




AN el 04t
PN

H: Mo SXNSA(MIASR/HAAHNENE)
el Zojel =2XEH (el @2)
SA - BB B () - MM - BES Ol &t o San HmEET
= 302,232
< 38,858
Al 90,670
()E=Z (&= 5) NS 331,780 372,427 AN40,647
= 232,260
< 29,856
Al 69,664
301 LEMZ 331,780 372,427 AN40,647
= 232,260
< 29,856
Al 69,664
01 MEI2EZE+06l= 331,780 372,427 N40,647
OZOM=(xtatel) XY 331,780,000& = 14! 331,780
= 232,260
< 29,856
Al 69,664
(2)ZOHL Y= HI X2 199,386 188,296 11,090
= 159,509
< 11,963
Al 27,914
308 XXM SOIA 199,386 188,296 11,090
= 159,509
< 11,963
Al 27,914
3/ 2S0IHetE & X A I 199,386 188,296 11,090
O&Oel 2=Hl XA 199,386,000& * 14 199,386
= 159,509
< 11,963
Al 27,914
()EOH LRl X2 (SXLAtel) 366,696 301,020 65,676
= 183,348
< 55,004
Al 128,344
307 21201 A 366,696 301,020 65,676
= 183,348
< 55,004
Al 128,344
05 BIZHRI & 3 366,696 301,020 65,676
OFMA=SRLR2IALY  366,696,000& » 14 366,696
= 183,348
< 55,004
Al 128,344
(Z)EONQI LRl X (Lersd dRtel) 469,215 459,040 10,175
=2 234,608
< 70,382
Al 164,225
101 1244 dl 469,215 459,040 10,175




A el Zoel
H: Mo SXNSA(MIASR/HAAHNENE)
ool Zojol =XNSA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
= 234,608
< 70,382
Al 164,225
04 D12t Z2XREES 469,215 459,040 10,175
O LErH LRl ALY
469,215,000 14 469,215
= 234,608
< 70,382
Al 164,225
(Z)EONQI L Rtel X2 (AlI2FR L Rtel) 91,927 76,548 15,379
= 45,964
< 13,789
Al 32,174
101 @144 Hl 91,927 76,548 15,379
= 45,964
< 13,789
Al 32,174
04 JI2ZHHZ2XREES 91,927 76,548 15,379
OXZOHQILBtE (A2HR) L Xtel At
91,927,000& * 14 91,927
= 45,964
< 13,789
Al 32,174
(DB ESXNIASHXA 5,362,440 4,768,319 594,121
= 3,753,708
< 482,620
Al 1,126,112
307 glz2tol & 5,362,440 4,768,319 594,121
= 3,753,708
< 482,620
Al 1,126,112
05 RIZtE = 5,362,440 4,768,319 594,121
OZOM E=sXAZS0(H=2H)
5,362,440,000& * 14 5,362,440
= 3,753,708
< 482,620
Al 1,126,112
(ESEZ I z0 21,944 5,714 16,230
= 15,361
< 1,975
Al 4,608
307 glz2tol & 21,944 5,714 16,230
= 15,361
< 1,975
Al 4,608
05 RIZHRI &t 3 21,944 5,714 16,230
OXZOMQ 52X IIHMSO(BIRA)
21,944 ,000& 14 21,944




A el Zoel
HH: oo =SXNsA(MEXN/FHLHSTE)
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 15,361
< 1,975
Al 4,608
()AL HR 2 2,160 0 2,160
= 1,512
< 194
Al 454
307 gl2tol & 2,160 0 2,160
= 1,512
< 194
Al 454
05 RIZHRI & 3 2,160 0 2,160
OUHEERNAEBISHXA  2,160,000& = 14 2,160
= 1,512
< 194
Al 454
(LLEMENMBIABSHR 2 345,715 260,800 84,915
= 242,001
< 31,114
Al 72,600
307 21201 A 345,715 260,800 84,915
= 242,001
< 31,114
Al 72,600
05 RIZt2IEt = 345,715 260,800 84,915
OZLMHEANHIA(HBIRH)
345,715,000& * 14 345,715
= 242,001
< 31,114
Al 72,600
(Z)EONABEININX 3,100 2,841 259
= 2,480
< 186
Al 434
301 LA S 3,100 2,841 259
= 2,480
< 186
Al 434
01 MEIBEE 263 3,100 2,841 259
O&oHel EX717] K& 3,100,000& = 14 3,100
= 2,480
< 186
Al 434
(LEZMHA 2B S HEIAXR 813,236 422,928 390,308
= 569,265
< 73,191
Al 170,780
307 21201 A 813,236 422,928 390,308




AN el 04t
PN

H: Mo SXNSA(MIASR/HAAHNENE)
ool Zojol =XNSA CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
= 569,265
< 73,191
Al 170,780
05 RIZtE = 813,236 422,928 390,308
OZgHM FnaEsMHA X
813,236,000 * 14! 813,236
= 569,265
< 73,191
Al 170,780
(LML RS SSHUAXEA 233,144 246,122 A 12,978
= 163,201
= 20,983
Al 48,960
307 gl & 233,144 246,122 N 12,978
= 163,201
< 20,983
Al 48,960
05 RIZt2 &= 233,144 246,122 A 12,978
OFay LEsd =283 MHAXA
233,144,000& * 14 233,144
= 163,201
< 20,983
Al 48,960
(EHNEMAMAE 29 3,600 3,600 0
= 1,800
< 540
Al 1,260
301 LEEAZ 3,600 3,600 0
= 1,800
< 540
Al 1,260
01 MEIBEZE 06z 3,600 3,600 0
OCHEUWBEZAMME 22 3,600,000 * 14l 3,600
= 1,800
< 540
Al 1,260
(F)AHLE 0L S4HIEX 5,000 4,000 1,000
= 3,500
< 450
Al 1,050
301 LA F 5,000 4,000 1,000
= 3,500
< 450
Al 1,050
01 AR 2Z A5 3 5,000 4,000 1,000
O4Zel E4HIE XA
1,000,000 = 5494 5,000
= 3,500




AN el 04t
PN

Ha: Hhe SXNSH (M=K /HAHESN)
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 450
Al 1,050
()AL HML REXA 83,780 0 83,780
= 58,646
< 7,540
Al 17,594
307 glz2tol & 83,780 0 83,780
= 58,646
< 7,540
Al 17,594
10 AL SXAIEEE2EH EX 83,780 0 83,780
O&ZMe nNEXH ALY
83,780,000& =« 14 83,780
= 58,646
= 7,540
Al 17,594
(Z)EOUHANZ=AIL JISEL 44,592 0 44,592
= 22,296
< 6,689
Al 15,607
402 QI2H X201 M 44,592 0 44,592
= 22,296
< 6,689
Al 15,607
02 QI EAISEZ (01X THS) 44,592 0 44,592
OFML HF=AE JIsE2S
44,592,000 = 1004 44,592
= 22,296
= 6,689
Al 15,607
(ZHARSTHEANL JIs22 29,050 24,920 4,130
= 14,525
< 4,357
Al 10,168
402 2I2H X201 M 29,050 24,920 4,130
= 14,525
< 4,357
Al 10,168
02 QIZE 2 A EZ (01X THE) 29,050 24,920 4,130
OZOMAXMNATNEAIL JIs2S 29,050
—HAESZIsEL 4,000,000& = 304 12,000
= 6,000
< 1,800
Al 4,200
— ¢st0tS 17,050,000& = 1004 17,050
= 8,525
< 2,557
Al 5,968




2N
X ZH -
L= B
el

(MBI EX/FHLAHE

X&)

© Ml = A

01
o

0l &t o

=

i
2

= N H

.

,046,163
,432,314

184,155
429,694

1,797,591

307 21201 &

= N H

—

,046,163
,432,314

184,155
429,694

1,797,591

248,572

,046,163,000& = 100 A

= N H

—

,046,163
,046,163
,432,314

184,155
429,694

1,797,591

248,572

= Hn W

4,704,608
3,293,225

423,415
987,968

4,229,474

475,134

307 21201 A

= M W

4,704,608
3,293,225

423,415
987,968

4,229,474

475,134

10 ALSISXAIE 8 H

g
OZOML HF=AE 2

1,176,152,000% = 4704

= W

, 704,608

4,704,608
3,293,225

423,415
987,968

4,229,474

475,134

= MW

3,712
2,227

445
1,040

3,712

307 21201 A

= 0N

3,712
2,227

445
1,040

3,712

1A SXAIE E =
OFMUANFAIE

SIEED dEXNE
1,856,000& » 2JH 4

= MW

3,712

3,712
2,227

445
1,040

3,712

H
o
Ol
04
2
e
b=
it
=
0

x
o
M0
0R
=
1]

= M

219,671

43,719
175,952

205,750

13,921

307 21201 A

= M

219,671

43,719
175,952

205,750

13,921
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2N

Hz: M SXNSA(AMIEXN/FAXHERH)
Sl FOHY =SXBA (B9 ®R)
. SfE|
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
05 QIZ2tR E 2 219,671 205,750 13,921
O=s&M2 NEXNYFHAEH &4
219,671,000 = 1JH A 219,671
& 43,719
Al 175,952
(VA EXNAIESAIR S 46,080 48,720 N 2,640
= 13,824
Al 32,256
301 et A= 46,080 48,720 N2,640
= 13,824
Al 32,256
01 Al E & A 462 46,080 48,720 N 2,640
OMIEXALE SAX =S (HAQAAA) 46,080
— &S 100,000 = 28% = 12& 33,600
= 10,080
Al 23,520
— XA 40,0008 ~ 269  12& 12,480
= 3,744
Al 8,736
(S)ZHOIEXIAIE SALRY ¢ 269,781 315,120 AN 45,339
& 80,934
Al 188,847
301 et A =2 269,781 315,120 N 45,339
& 80,934
Al 188,847
01 Al B & A 46 2 269,781 315,120 AN 45,339
OFHMAUASKIANE SAAN =
269,781,000 = {14l 269,781
& 80,934
Al 188,847
(E)ZHHATH IS T ZAME 2L X 2 133,333 116,000 17,333
< 20,000
Al 113,333
307 2iz2to| & 133,333 116,000 17,333
= 20,000
Al 113,333
10 MM SAANEEHESIGHEX 133,333 116,000 17,333
OXOMHUTHIIE XN SAIEEH 249
133,333,000 * 1JH A 133,333
= 20,000
Al 113,333
(ST QI =2 ESAIER2Y 367,573 327,056 40,517
& 58,403
Al 309,170
307 2iz2to| & 367,573 327,056 40,517
& 58,403




2N

Ha: Hhe SXNSH (M=K /HAHESN)
Sl FOHY =SXBA (B9 ®R)
(o
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 309, 170
10 MM SAANEEHESIGHEX 367,573 327,056 40,517
OXMHAUAFUAESAIE 2
183,786,500& * 2 A 367,573
& 58,403
Al 309,170
(SIANZEHeIES=2XN22E 1,260,000 1,260,000 0
& 16,000
Al 1,244,000
307 2iz2to| & 1,260,000 1,260,000 0
& 16,000
Al 1,244,000
05 QIZ2tE 2 1,260,000 1,260,000 0
O&else=Exa 249
1,260,000,000& = 1JH A 1,260,000
& 16,000
Al 1,244,000
(SOOI MEOISXRAMEHR2Y 230,657 172,253 58,404
= 44,809
Al 185,848
307 2iz2tol & 230,657 172,253 58,404
= 44,809
Al 185,848
10 MM SAANEEHESIGHEX 230,657 172,253 58,404
O MEQSKNANEH 29
230,657,000 = 1JH 2~ 230,657
& 44,809
Al 185,848
(Z)xsIsHHdEH2Y 221,881 210,468 11,413
o= 36,878
Al 185,003
307 2Iz2to| & 221,881 210,468 11,413
= 36,878
Al 185,003
10 M SXAANEEHESIGHEX 221,881 210,468 11,413
Ox=0EAHH 2dY 221,881,000 = 10 A 221,881
= 36,878
Al 185,003
(E)sololszadest= 17,185 18,000 N 815
& 3,437
Al 13,748
307 gizto| A 17,185 18,000 N 815
& 3,437
Al 13,748
10 MM SAANEEHESIGHEX 17,185 18,000 N815

- 22 -




AN el 04t
PN

Hz: M SXNSA(AMIEXN/FAXHERH)
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Osololszagod 25N
17,185,000 = 14 17,185
< 3,437
Al 13,748
(S)XNHZEHOI XM 2A 130,000 130,000 0
== 26,000
Al 104,000
307 2Iz2t0| & 130,000 130,000 0
= 26,000
Al 104,000
10 M SXAEEHESIGHEX 130,000 130,000 0
OXNEECIXNKAMAEYH 24
130,000,000& = 1JH A 130,000
= 26,000
Al 104,000
(T)ELSWHASHHIZFESHH K& 3,046 15,250 A 12,204
= 914
Al 2,132
301 et M3 3,046 15,250 N 12,204
= 914
Al 2,132
01 AISIE& A %52 3,046 15,250 N 12,204
OS48D HASHHL 2Fsy X
3,046,000& = 1A 3,046
== 914
Al 2,132
(S)ZOHQI X ATHEAIE2H 1,254,586 1,177,045 77,541
o 137,375
Al 1,117,211
307 212t0| & 1,254,586 1,177,045 77,541
o= 137,375
Al 1,117,211
10 M SXAEEHESIHEX 1,254,586 1,177,045 77,541
OXEMNRAUXNATHEAIE 24
1,254,586,000& = 14! 1,254,586
= 137,375
Al 1,117,211
()T OHQIE oA S =R X & 130,000 130,000 0]
o=} 24,705
Al 105,295
307 212t0| & 130,000 130,000 0]
= 24,705
Al 105,295
10 AISIEXAIEEHE2IHIEX 130,000 130,000 0
OXOMNAEJALAXNREE &Y
130,000,000& * 104 A 130,000
o 24,705

_23_




2N

HH: oo =SXNsA(MEXN/FHLHSTE)
Sl FOHY =SXBA (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
| Al 105,295
(D) egs2x2XS 414,516 326,280 88,236
< 82,903
Al 331,613
307 gl2tol & 414,516 326,280 88,236
< 82,903
Al 331,613
05 RIZIRI & 3 414,516 326,280 88,236
OZNUEBELZE %0} X &
414,516,000 * 14 414,516
< 82,903
Al 331,613
(Z)HOMHHFAIE MUIAXE 20,704 21,840 A 1,136
= 6,211
Al 14,493
307 gl2tol & 20,704 21,840 A 1,136
< 6,211
Al 14,493
11T ALS S RAEE = 20,704 21,840 A 1,136
OZOMIMEASL AT SXMUIAKRA
20,704,008 * 14 20,704
< 6,211
Al 14,493
(Z)EOUMANZFAE 29 294,054 807,640 A 513,586
< 58,811
Al 235,243
307 21201 A 294,054 807,640 A 513,586
< 58,811
Al 235,243
10 M2 SXNANEHE2IHEX 294,054 807,640 A 513,586
OFMAANFAIE 2 147,027,000& = 204 & 294,054
< 58,811
Al 235,243
(S)HMHAAFAILO0IERAANF 2,700 4,500 A 1,800
< 810
Al 1,890
307 glz2+ol & 2,700 4,500 1,800
< 810
Al 1,890
11T MISXASEEX 2,700 4,500 A 1,800
OFMAAHNF=AIE OISR 1A W=
300,000& * 90 & 2,700
< 810
Al 1,890
(Z)HOMAHIHFAER2S 269,100 283,000 A 13,900
S 53,820

_24_




2N

H: Mo SXNSA(MIASR/HAAHNENE)
9l BOHY BB (29 a8)
SA - BB B () - MM - BES Ol &t o San HmEET
Al 215,280
307 glz2tol & 269,100 283,000 A 13,900
< 53,820
Al 215,280
10 ALSISXAIEEE 22X 269,100 283,000 A 13,900
OBMASIHFANL 29
269,100,000& * 1JH 2 269,100
< 53,820
Al 215,280
(Z)ZHA ST X E A 370,000 370,000 0
S 74,000
Al 296,000
307 glz2tol & 370,000 370,000 0
< 74,000
Al 296,000
10 AL SXAIEEE2EH EX 370,000 370,000 0
ORE MDA E AL
130,000,000& * 1JH 2 130,000
= 26,000
Al 104,000
OXFMAEZS XA ALY 75,000,000& * 10 75,000
= 15,000
Al 60,000
OMZTZHASE A F ALY
50,000,000 = 10024 50,000
= 10,000
Al 40,000
OXMEOHA S XHE X & AL
65,000,000 * 10024 65,000
< 13,000
Al 52,000
OXI M ZOoH ol ol & & At
50,000,000 = 1002 50,000
< 10,000
Al 40,000
(E)HA LA LU AR FE Y| 7,852 9,752 ~1,900
< 2,356
Al 5,496
307 21201 A 7,852 9,752 A 1,900
< 2,356
Al 5,496
A= XALS 2 = 7,852 9,752 A 1,900
OBAUQAAEL AT 25 X2
52,000& = 151Y 7,852
= 2,356
Al 5,496
(SN EHEHAINEX AL 55,000 50,000 5,000
< 11,000

_25_




2N

Ha: Hhe SXNSH (M=K /HAHESN)
el Zojel =2XEH CER-ED
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Al 44,000
307 glz2tol & 55,000 50,000 5,000
< 11,000
Al 44,000
10 ALSISXAIEEE 22X 55,000 50,000 5,000
OHEHTOHANS XA A
55,000,000& * 1JH A 55,000
< 11,000
Al 44,000
(Z) Al AL Z OH QI TH & AFEF AFE 50,000 50,000 0
S 10,000
Al 40,000
307 glz2tol & 50,000 50,000 0
< 10,000
Al 40,000
10 AL SXAIEEE2EH EX 50,000 50,000 0
O& M ZOHQITH & & E ALY
50,000,000& * 1JH 2 50,000
< 10,000
Al 40,000
(SINZHOHINEXNHE 2SS 150,000 150,000 0
= 28,545
Al 121,455
307 gl2tol & 150,000 150,000 0
< 28,545
Al 121,455
10 AL SXAIEEE2EHEX 150,000 150,000 0
OZOMLIIFEXNRHEH 2
150,000,000& * 1JH 2 150,000
< 28,545
Al 121,455
(Z)EOQE of0lIHA 2HHLI| BF 3,566 1,550 2,016
< 1,070
Al 2,496
301 LEd = 3,566 1,550 2,016
< 1,070
Al 2,496
01 Ml2ZE 6= 3,566 1,550 2,016
OXHLE olOlIHAZHETD| E5
3,566,000& = 14 3,566
< 1,070
Al 2,496
FOUA=SXAE JIsELAM 40,000 0 40,000
401 AIEHI L 201 40,000 0 40,000
1T AIZHI 40,000 0 40,000

_26_




AN el 04t
PN

Hz: M SXNSA(AMIEXN/FAXHERH)
Sl FOHY =SXBA (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OZMAZEXANE JsEBLAY
40,000,000 = 14! 40,000
O HFAIE 2SS XA 222,000 0 222,000
307 2Iz2t0| A 222,000 0 222,000
10 M SXNANEHESIGHEX 222,000 0 222,000
OFUWANFAE 2Y(2XS FA)
111,000,000 = 200 A 222,000
HAESHAY (I ZOoHQI ) (DIEH/ DIE) 133,189 141,857 A 8,668
olad 2 A Y| 56,531 65,355 N8,824
oled A Y| 56,531 65,355 N8,824
101 2121 4| 56,531 65,355 N8,824
03 I HLs22 NHE 56,531 65,355 N8,824
OStE & 22| 0l 56,531
—-Jl=23 2,200,470 ~ 1H = 128 26,406
—HE5I} 2,200,470& * 1H * 23] * 75% 3,301
— =22 (LX) 40,0008 * 1H = 128 480
L ECELE
12,9452 x 150% = 15A12F » 1&H = 12&€ 3,496
—pYuIR4y
103,560 * 150% » 1€ * 116 18,020
—HXRSEIIEE 103,560 * 18 » 19¢ 1,968
— M ZAH| 130,000& * 1¥ = 128 1,560
— WSt 100,000€ * 1 = 128 1,200
— IS4 100,000 » 1® * 1= 100
JlE&dl 76,658 76,502 156
Jl2 &4l 76,658 76,502 156
201 et | 18,638 18,482 156
01 AP 2t 2| H| 18,638 18,482 156
OZ2AMNEXN 7L 16,000 = 13%¥ * 12& 2,496
OEZuA Yl 7,000& * 624 *x 13" * 12& 6,552
Ogbte3 100,000 * 12& 1,200
OARE T HFAH| 50,000& * 12& 600
OALAR =44 7,010
— 2 A =2l 1,000,000 = 1CH 1,000
— T2l =2 100,000 = 3CH = 50/100 150
— E2AD EUY 200,000& * 53 *~ 1CH 1,000
—Z2EI(EN) EY
200,000& * 53 = 304 3,000
—Z2EI(ZH) EY
200,000& * 53 * 1CH 1,000
—PC £=¢J 100,000 = 130§ = 20/100 260
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<

n0

Kio

Hl w

H3r
Wikd
RIS

53,820
53,820

3,000
3,000

1,200

1,200
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